EHAY

NOBEES

VIIREFIWVIRE

HABEE : 2023/04/04 12:25:39

BfEE : 2023404 504H STREIRR - /S— x 2 (XTI )Lss—)

ANE - 1492 (B 1482 &ik:14) HDCP#IFR : 8 15.0 % 18.0 HBY=7 15.0 %&Y=7 18.0 OUTIE Lt ) 35 6 7 g
H =®: A = L B .5 - . EAE S T 4 = L)
HEARK  HRYT  (ELAWAITE * 1.5 - 36) * 0.80 MEEIERE : Ry FONALTOER LN a8 17 12 15 12 18
IE {5 JLAY—% a—X _[GROSS [ HDCP | NET =Y - gE IE 45 TLAY—% a—X_[GROSS [ HDCP | NET =Y - gE
B MRS E IN 45 10.8] 34.2| ERZAE M| MR Bk ouT 43 4.8] 372
BRI BE IN 4 6.0| 35.0| ERIAE 01| EBH HKE ouT 41 4.8| 37.2

3L |BE i ouT 41 6.0| 35.0| ERIAE VRY vl AV NI ouT 42 4.8 37.2

A |KE  FE ouT 41 6.0 35.0|EHRZAE 44455 | FEAT  BRER [N 44 10.8 37.2

S /NI =i IN 47 12.0| 35.0| LI AE A5GI|#AE EB IN 44 10.8| 37.2|RUE

6fi(RZ2E A ouT 45 9.6 35.4 464z| liA & I N 49 10.8| 37.2

s |/ Bik ouT 44 8.4( 35.6 AT BB Bk ouT 49 10.8| 37.2

8 |=E@ IE=ER I N 44 8.4| 356 4841| BtE B— ouT 41 3.6 37.4

Ofsr |#0E BARK ouT 43 7.2| 35.8 4945 | Bt AAE IN 41 9.6 37.4

1062 |[FEH  FX ouT 48 12.0| 36.0|UE 504 | 5H RE ouT 41 9.6| 37.4|mUVE
146z |Exk EF ouT 41 4.8| 36.2 514zl E# ouT 471 9.6] 37.4

12451 | B4t 53R ouT 41| 4.8[ 36.2 b4 | Il REZ IN 44 8.4| 37.6

134 [#B4T 5t ouT 47 10.8[ 36.2 5345 | HE E—E ouT 44 8.4| 37.6

146 | K8 45% IN 40 3.6/ 36.4 bAf| RA EE I N 54 14.4| 37.6

156 (BE #® IN 40 3.6| 36.4|FRUE bofI| A f2— ouT 50 14.4| 37.6|RUE
1643 |H6EH BR IN 400 3.6| 36.4 AR E: ouT 54 14.4] 37.6
1MzR —5 ouT 46 9.6| 36.4 76| KK Bk ouT 49 7.2 37.8

184 |Z=H iE IN 46 9.6( 36.4 b8fir| ¥y =X IN 44 7.2| 37.8

196z /M AR 12 ouT 460 9.6| 36.4 SOy | = ouT 494  7.2| 37.8

204z |HHE =X ouT 460 9.6[ 36.4|RUE 60| EH  HA IN 44  7.2| 31.8||/UE
2146z [/ FEIR IN 39 2.4 36.6 614zl x mEx ouT 44 72| 37.8

22451 | 8RR B ouT 39| 2.4 36.6 620I( R & IN 49 7.2 37.8

23461 |[HER BA ouT 45 8.4| 36.6 63| =48 = IN 49 7.2| 37.8

24461 |28 EH I N 45 8.4| 36.6 6447| FIL == IN 51 13.2| 37.8

254 |4E@ FHE ouT 38 1.2| 36.8|FRUE 654z| HFIR EH IN 511 13.2] 37.8|RUE
264z |thE ¥ I'N A4 1.2] 36.8 66| =1 BE IN 44 6.0 38.0

2745 | &3 ouT 4%1 1.2 36.8 674I| MH = ouT 5d 12.0] 38.0

2841 B A W= ouT a4 7.2| 36.8 68| K& H=iE IN 50 12.0] 38.0

204 |#afR #&3A ouT 50| 13.2] 36.8 69GI| —#1  Ah I N 50 12.0| 38.0

0L |KE  HKFE LN 50 13.2] 36.8|FRUE 106 BT & ouT 5 12.0| 38.0|RUE
36| KRB ¥R I N 371 0.0| 37.0|A" AN OR Nz €% # out 43 4.8] 38.2

324 [{E#E  FBh IN 43 6.0 37.0 26| R K2 ouT 43 4.8 38.2

336 | B I N 43 6.0 37.0 7340 | dm) iE IN 49 10.8| 38.2

344z |fErE  Bh I'N 43 6.0 37.0 TARL| EE  BF ouT 49 9.6| 38.4

354z B M= ouT 49 12.0| 37.0|FRUVE T5hL| % mE— ouT 49  9.6| 38.4|RUE
364 [FE BA IN 49 12.0| 37.0 T64I| A —ER I N 44 9.6| 38.4
JIhL|E# EZED I N 49 12.0[ 37.0 71| A BE I N 44 9.6/ 38.4

38 (LA BK&E IN 491 12.0| 37.0 184L| /NE R ouT 44 9.6| 38.4

9L [E&/I 24t I N 49 12.0[ 37.0 \ 194%| KT 1= ouT 49 9.6| 38.4

A6 |R EE I N 520 15.0| 37.0|RUE 804z WE FIA IN 4] 8.4| 38.6|RUE

1/2

XN—TAVROFHFENUT TIL—EN TS A DHDCPIF K TRRENTVET .




SN ) —RRE Hi1 BB : 2023/04/04 12:25:39
YVISEFEZFINIRE

BMER : 20234048048 ITHEIR : /83— x 2 (A TI)sv—)

ANE: 1498 (BiE:148% Ltf:14) HDCPIPE : 8 15.0 #% 18.0 Hyz7 15.0 #%y=7 18.0 OUTHE Lk ) 35 6 7 9
B =®: A 2 Lk i x 1.5 - ) s T 4 = L)

+EARX  FHRYT  ELHMAIPEE * 1.5 - 36) * 0.80 BEIERE : v N TOER L NI CAy 46 17 14 18 17 18
[R5 TLAY—% aJ—X |GROSS ] HDCP | NET ZH - BE g 5z TLAY—% a—Z |GROSS [ HDCP | NET Z2E - BE

81GL(AF = ouT 47 8.4] 38.6 1214 WufE g I N 44 3.6| 40.4

824 &k MR ouT 471 8.4| 38.6 12245 ;8@ BE IN 5d 9.6 40.4

83 |IUA B ouT 53 14.4| 38.6 1234|801 Elg I N 5 9.6 40.4

B4fL [KFE  #— I'N 53 14.4) 38.6| 1244 uE  E4 IN 43 2.4| 40.6

854 [REH = IN 460 7.2| 38.8|MUE 12547 | TBFT  EEF ouT 49 8.4] 40.6|RUE

864 |#h A fHiA ouT 46 7.2f 38.8 1266 kEH H* ouT 59 14.4| 40.6

874 |ILAR FiAa IN 46/ 7.2] 38.8 1274z £EB  H— ouT 54 13.2| 40.8

88LL (KIE s I'N 46 7.2| 38.8 12862l &I ALE ouT 54 15.0[ 41.0

894 |luy —H3 ouT 46| 7.2| 38.8 1204 | B8 #0E IN 5¢ 15.0] 41.0

004 B B ouT 46 7.2| 38.8|RUE 13047 | D & ouT 5 15.0] 41.0|RUVE

014 [#a& 478k I N 46 7.2[ 38.8 1316z 86K N\ ouT 54 15.0[ 41.0

0241 [T i ouT 52 13.2| 38.8 1324z| BBt i IN 51 10.8] 41.2

034z [BFH IEE ouT 52| 13.2| 38.8 13345 | HF  AERF IN 5d  8.4| 41.6

044 [hEF —53B ouT 520 13.2] 38.8 \ 134457 | RBER &A ouT 50 8.4 41.6

05437 |iEK EA ouT 521 13.2| 38.8|FRU'E 1354|228  Hah IN 50 8.4| 41.6|R/RUE

96 |[BEXR RE IN 450 6.0] 39.0 136467 XA Rl IN 50 8.4 41.6

7L [ER BE ouT 45 6.0 39.0 13743 | #81l 2BR ouT 5d 14.4| 41.6

O8fL |FHik #HZ I'N 51f 12.0{ 39.0 138437 | 46 #A I N 44 6.0 42.0

09fI |BAR RER I N 51 12.0] 39.0 1394z | % 7 I N 50 15.0] 42.0

1004z | RE ouT 54 15.0| 39.0|RUE 140461 2% =5 ouT 53 10.8| 42.2|HRUE

1014 [BH+  FIER IN a4 4.8 39.2 141 B B ouT 54 9.6| 424

1024 |B K &F ouT 50 10.8] 39.2 14247 TiE 5268 I'N 59 15.0| 43.0

1036% (85K 1B IN 50 10.8] 39.2 14362) 2@ =& I N 53 9.6| 43.4

10447 | REE  BH IN 49 9.6] 39.4 14445 | EE 23 IN 51 7.2| 43.8

1054 [T Bik ouT 49 9.6 39.4|RUVE 1456% | HE AR BIE IN 54 9.6| 44.4|RUE

1064 |/BFE B3t ouT 49 9.6[ 39.4 14641 | FBK  HEE IN 6q 12.0| 48.0

10762 |BHF EE I'N 49 9.6{ 39.4 14745 | B2 K B ouT 6] 15.0| 48.0

1084 | F3E XAt I'N 420 2.4f 39.6 1484 | #2E  @l ouT 64 15.0| 49.0/BB

1094z [Tl &z ouT 41 7.2] 39.8 1494 | EID  F=A ouT 61 15.0] 52.0

11042 | BB 3hF0 ouT 53 13.2| 39.8|RUE

111462 |8 =8 ouT 53 13.2[ 39.8

124 |NE  EER ouT 53 13.2] 39.8

11347 |F%F@B &% IN 53 13.2| 39.8

AGL |lLA  #t IN 46 6.0| 40.0

154z |RE E— I N 520 12.0| 40.0|RU'E

1662 [5%F Bs% ouT 55 15.0| 40.0

1174 |1k EA ouT 55 15.0| 40.0

1846z | EE B— ouT 55 15.0( 40.0

19 |ET % ouT 55 15.0| 40.0

1204 | LB 1258 IN 51 10.8| 40.2|FRUVE

2/2

HN=TAVROFOFENYT TIL—ENTNSADHDCPIZHER TRREINTVET



